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(m) (m) (n) (m) (m) (m) (i)
BP 0 6.20 4.70 0.75 0.75
3.30 3.30] 6.20 4.70 4.70 15. 51 0.75 0.75 1.50 4.95
11.30 8.00] 6.20 4.70 4.70 37.60 0.75 0.75 1.50 12.00
20. 60 9.30] 5.00 3.50 4.10 38.13 0.75 0.75 1.50 13.95
28.20 7.60 4.80 3.50 3.50 26. 60 0.55 0.75 1.40 10. 64
45. 40 17.20/ 5.10 3.50 3.50 60. 20 0.85 0.75 1.45 24.94
54.50 9.10] 5.25 3.50 3.50 31.85 1.00 0.75 1.68 15.29
59. 40 4.90] 4.80 3.50 3.50 17.15 0.55 0.75 1.53 7.50
72.10 12.70]  6.50 4.00 3.75 47.63 1.25 1.25 1.90 24.13
85. 60 13.50/ 5.45 4.00 4.00 54. 00 0.73 0.73 1.98 26. 73
91.75 6.15] 5.10 3.60 3.80 23.37 0.75 0.75 1.48 9.10
(HERTKER) 0.00 0.00
92.35 5.10 3.60 0.00 0.75 0.75 0.00
96. 30 3.95 5.60 4.00 3.80 15. 01 0.80 0.80 1.55 6.12
105. 80 9.50] 5.45 3.98 3.99 37.91 0.74 0.73 1.54 14. 63
120. 60 14.80] 5.40 4.00 3.99 59. 05 0.70 0.70 1.44 21. 31
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159. 87 5.90] 7.85 6.10 6.40 37.176 1.00 0.75 1.75 10.33
169. 57 9.70] 17.00 5.25 5. 68 55.10 1.00 0.75 1.75 16.98
171. 27 7.70] 6.60 4.85 5.05 38.89 1.00 0.75 1.75 13.48
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EYERIGER 3.00 | 1.80 2.20 3.500 1.967
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